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WSPÓŁRZĘDNE  GEODEZYJNE 
OSI  DROGI 

  
Przebudowa ulicy Ks. Brzóski  w Tuszynie 

 
ETAP  I 

 
 
          od punktu A   Y = 4526402.6744    X = 5576989.7345    
          od punktu B   Y = 4526401.6868    X = 5576940.4875    
          od punktu C   Y = 4526400.7300    X = 5576874.8642    
          od punktu D   Y = 4526400.7300    X = 5576743.6559    
          od punktu D’   Y = 4526400.7300    X = 5576735.6829    
          od punktu E   Y = 4526399.4666    X = 5576727.8106    
          od punktu F   Y = 4526392.7333    X = 5576685.8528    
          od punktu F’   Y = 4526389.8264    X = 5576667.7393    
          od punktu G   Y = 4526382.6399    X = 5576650.8602    
          od punktu H   Y = 4526381.8843    X = 5576649.0857    
   
    
          od punktu H’   Y = 4526377.6498    X = 5576639.1400    
          od punktu I   Y = 4526368.9820    X = 5576632.6810    
          od punktu J   Y = 4526303.8637    X = 5576584.1565    
          od punktu J’   Y = 4526297.1250    X = 5576579.1350    
          od punktu K   Y = 4526292.3982    X = 5576572.1864    
          od punktu L   Y = 4526259.4213    X = 5576523.7088    
          od punktu L’   Y = 4526256.9791    X = 5576520.1187    
          od punktu Ł   Y = 4526255.1924    X = 5576516.1613    
          od punktu M   Y = 4526219.6693    X = 5576437.4835     
 
 
          od punktu M’   Y = 4526217.3650    X = 5576432.3800    
          od punktu N   Y = 4526214.5054    X = 5576427.5656    
          od punktu O   Y = 4526202.3270    X = 5576407.0625    
          od punktu O’   Y = 4526198.7350    X = 5576401.0150    
          od punktu P   Y = 4526196.0249    X = 5576394.5243     
          od punktu R   Y = 4526160.0525    X = 5576308.3703    
          od punktu R’    Y = 4526155.9250    X = 5576298.4850    
          od punktu S   Y = 4526155.4733    X = 5576287.7822    
          od punktu T   Y = 4526153.4956    X = 5576240.9187     
 
  
          od punktu T’   Y = 4526153.3875    X=5576238.3581    
          od punktu U   Y = 4526153.4108    X=5576235.7941    
          od punktu W   Y = 4526154.0510    X=5576165.2800         


